
Field values on the coordinate axes
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Projected average values
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BX (kG) vs X (cm)
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BX (kG) vs Y (cm)
16/03/24   14.44

X=-3  Z=-40

B
X
 (

kG
)

X=-3  Z=0 X=-3  Z=40

X=0  Z=-40

B
X
 (

kG
)

X=0  Z=0 X=0  Z=40

X=3  Z=-40

Y (cm)

B
X
 (

kG
)

X=3  Z=0

Y (cm)

X=3  Z=40

Y (cm)

-0.2

0

0.2

x 10
-5

-2 0
-4

-2

0

2

4

-2 0

-0.2

0

0.2

x 10
-5

-2 0

-0.2

0

0.2

0.4

x 10
-5

-2 0
-4

-2

0

2

4

-2 0

-0.2

0

0.2

0.4

x 10
-5

-2 0

-0.2

0

0.2

x 10
-5

-2 0
-4

-2

0

2

4

-2 0

-0.2

0

0.2

x 10
-5

-2 0



BX (kG) vs Z (cm)
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BY (kG) vs X (cm)
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BY (kG) vs Y (cm)
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BY (kG) vs Z (cm)
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BZ (kG) vs X (cm)
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BZ (kG) vs Y (cm)
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BZ (kG) vs Z (cm)
16/03/24   14.44

X=-3  Y=-2

B
Z
 (

kG
)

X=-3  Y=0 X=-3  Y=2

X=0  Y=-2

B
Z
 (

kG
)

X=0  Y=0 X=0  Y=2

X=3  Y=-2

Z (cm)

B
Z
 (

kG
)

X=3  Y=0

Z (cm)

X=3  Y=2

Z (cm)

-5

-2.5

0

2.5

5

-40 -13.4 13.2 39.8

-0.2

-0.1

0

0.1

0.2

x 10
-8

-40 -13.4 13.2 39.8

-5

-2.5

0

2.5

5

-40 -13.4 13.2 39.8

-0.2

0

0.2

x 10
-9

-40 -13.4 13.2 39.8

-0.2

0

0.2

x 10
-8

-40 -13.4 13.2 39.8

-0.2

0

0.2

x 10
-9

-40 -13.4 13.2 39.8

-5

-2.5

0

2.5

5

-40 -13.4 13.2 39.8

-0.2

-0.1

0

0.1

0.2

x 10
-8

-40 -13.4 13.2 39.8

-5

-2.5

0

2.5

5

-40 -13.4 13.2 39.8



Field gradients on the coordinate axes
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Field gradients on the coordinate axes
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Field gradients on the coordinate axes
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